EXERCICE #1

simplifier

EXERCICE #2

évaluer

a une valeur proche







---------- QUESTION ----------

(Vv48)~5/2472 = ? (simplifier)

(VA8)"5/2472

= (487(1/2))"5/24"2

= 487(5/2)/24"2

note: 5/2 = (4 + 1)/2 =4/2 + 1/2 =2 + 1/2
= 48"(2 + 1/2)/24"2

= (4872:487(1/2))/24"2

272.48"(1/2)
= 4-(3:16)~(1/2)
= 4.-37(1/2)-16"(1/2)

= 4-J3:V16




---------- QW EE T X G omomommeae
(9/4)~(9/4) = ? (évaluer)

---------- HEPOMNS E commmommee

(9/4)7(9/4)

note: 9/4 = 1/2 + 1/2 + 1/2 + 1/2 + 1/4

= (9/4)7(1/2 + 1/2 + 1/2 + 1/2 + 1/4)

= (9/4)"(1/2)-(9/4)"(1/2)-(9/4)"(1/2)-(9/4)"(1/2)-(9/4)"(1/4)
= V(9/4)-V(9/4)-V(9/4)-V(9/4)-(9/4) (1/4)

= (3/2)-(3/2)-(3/2)-(3/2)-(9/4)~(1/4)

= (81/16)-(9/4)~(1/4)

= (81/16)-((3/2)"2)"(1/4)

= (81/16)-(3/2)"(1/2)

= (81/16)-V(3/2)

= (81/16)- (V3/v2)

= (81-V3)/(16-V2)

notes:

« 81/16 = 5
e V3/V2 = (V3-V2)/(V2)-V2) = (V3:vV2)/2 = V6/2 = 2,4/2 = 1,2

e => (81/16)/(V3/V2) = 5-1,2 = 6

vérification avec la calculatrice: (9/4)~(9/4) = 6,200270



